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Chapter 1 Practice Test o . l:

I. Classification
Fo
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II. . Properties
Please state the property that is illustrated.
Inverse, or Distributive)

(Commutative, Associative, Identity,
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8. 100+11+12=12+11+10

9. a=lz=a

10. x+(y+z)=(x+y)+z

13. (3c+ 2k) +4p = 3c + (2k + 4p)

14, x-(y+2)=x-y-2

III. Order of Operations (PEMDAS)

Please simplify each expression with the following values:
x=4 y=-3 2= 4

15. 2 + 3(xyz) + 7 16. 3x° -y + 2y 17. y* - 3x+2
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IV. Applications A :‘/_I:’_:C’*' -,

2_1- For 1980 through 1990, the average salary, A, of mental health professionals
(in 1000's of dollars) can be modeled by: A = .35t + 26, where 1=0 in 1980,

a. What was the average salary in 19807
A= . 395(0)+ 30
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b. What was the average salary in 19887
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c. When will the average salary be $30,900?
2 Qo0 = 358 126
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V. Solving e.qu;:l:r_i:tms.
Please solve each equation for "x." Circle your answers.

22. 2x-T=3x+2 23 4x + bx-8=10 - x
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V. continued
26, 5(3 - 4x) = -8 - (x - 4)

VI. Inequalities

29, 2(3+x)>1+4x
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Please solve and graph each inequality.
30, 5x-20<2x-11
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VII. Absolute Value Equations
Please solve each equation for x, and check your answers.
32 Ix|=7 33. 2|x| = 11 34. 3|x| = -9
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VIII. Absolute Value Inequalities.

lesc solve and graph each inequality,
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IX Area and Perimeter

39, |2x-5] »1

41, 3|2x + 4] - 2|2x + 4] > 16
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Please find an expression for either Area (A) or Perimeter (P). Then, evaluate given

the values of the variables.
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given n = 3, please find P
P= A&

|
Az 73 (3&‘\ Cg‘s{j
= >

e e |y

given, x = 4, please find A
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